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QUESTION 1

A UE is sending data to its FTP server over the EPC core with the TCP port 20.

Based on the information shown in the

exhibit, which of the following bearer(s) will be used for the uplink FTP flow?

FA:PEUY show mobile-gatewsy pdn hearer-context
Bearer cOntext
ZasEEEsssssEEEssTEESEEESSSESiEESsNESSNESSSSZEOSSSSsEESSNSSSNESSESSszssas
INs1 AFN Bearer Type QCI/ARF MER/GBE ZDFs
302720123456789 dipd.alcacsl-luce® § Def 9/12 = {1}
A02720123456789 ipd.alcatel-luce® & Ded 2/12 15000 /10000 1
J02720123456789 ipd.alcatel-luce® 7 Ded 4,10 5000/ 2500 I
Number of bearer contexts : 3
*ALPGWE shovw mobile-gateway pdn bearer-context imsl 1l e PA
J02720123456789 decail I | . | [ "
T N I AT NI TSN IR RN e . v T x J Frp
Eearer context detail uE “'"Ed' SGH Ld Server
========s======= ======= ==========s===z======= 5.5 12,45 Evolved Packet 10.10.6.2
IMSI t 302720123456789 o g Core
APH : ipd.alcatel-lucent. com
Eesarer Id HE Bearer cype : Defaulc
QCI/ARF : 9/12 SDFs £ 0
Up Tine U TR R e s e e
i IM3T i 30ZTLOLZ 3436759
e 4PN ! ipd.alcacel-lucent.com
Ims1 : JD2720123456TE9 Bearer Id i Bearer cype : Dedicaced
APN : ipd.alcatel-lucent, co QCI/ARP 1 4710 5DFs H
Bearer Id H Bearer type i Dedicated | Up Time i O0d 00:00:29
QCT/ARP T arl2 SDFPs il
Up Time : Od 00:00:29 SDF rule name : rule-2
SIJE' rile aame : rule=1 SDF prececence : loo SDF pkt Lilters : 2
e SDF QoS UL MER : 5000 Kbpa SDF Qo% DL MBR : 5000 Kbps
SDF precedsnce : 20 SDF pkc filtexs @ 2 3DF Qo3 UL GBR { 2500 Fbpas SDF 0Qo3 DL GBR : 2500 Ebpa
SDF Qo3 UL MBR ¢ 15000 Khps SDF Qo2 DL MBR  : 15000 Kbpa | Filter id 2 0 Filter direction : DL
SDF Oo3 UL GBR  : 10000 Fobps SDF QoS DL GER  : 10000 Kbps | Filter pretocol o top
Filter id ;0 Filter direction : DL Source address  10.10.6.2/32
Fileer protocol @ udp Source porcs TR =21
Source address 1 10.10-6. 2432 Destinaticn addr ¢ 5.5.1Z2.45/32
Zource pores : 200 - 21 Filcer id e | Filter ditection : UL
Destination addr ; 5.5.12.45/32 Filter protocol @ top
Filter id t 1 Filter directiom : UL Source adéress @ 5.5.12.45/32
Fileer protocol @ udp Destinaticn addr @ 10.10.6.2/32
Source address t 5.5.12.45/32 Destmnatior ports § 20 - Z1
Destination sddr : 10.10.6.2/32 Epn b e e e R R S e e e s i S
Destnation ports @ 20 - 21 Mumber of bearer contexts : 3
<Output continued in the right window: |
A. The bearer # 5 will be used for the FTP flow.
B. The bearer #6 will be used for the FTP flow.
C. The bearer #7 will be used for the FTP flow.
D. Both bearer # 5 and bearer # 6 will be used for the FTP flow.
E. Both bearer #5 and bearer #7 will be used for the FTP flow.
Correct Answer: C
QUESTION 2
Which of the following statements most accurately describes the EPS bearers?
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A. A UE can have only one default bearer.

B. A UE may have more than one dedicated bearer.

C. Each EPS bearer may provide different QoS treatment for its traffic.

D. EPS bearers that connect a given UE to a single APN use different IP subnets.
E. Only answers A, B and C are correct.

F. Only answers B and C are correct.

Correct Answer: F

QUESTION 3

Which of the following statements is FALSE regarding the SGW handling of an incoming GTP packet with a TEID value
of zero?

A. The ingress IOM card forwards the received packet to the active CPM card.

B. After processing the received packet, the MG-ISM card creates a response and sends it to the active CPM card
C. The CPM card forwards the packet to an active MG-ISM card.

D. The MG-ISM card creates the proper contexts and assigns the required TED values.

E. None of the above statements are false.

Correct Answer: B

QUESTION 4

On Alcatel-Lucent 7750 PGW, which of the following statements is FALSE regarding the debugging of a given IMSI?
A. The output may be filtered per bearer.

B. The APN value must be specified in the debug command.

C. A log must be created to view the debug output.

D. The output may be filtered per APN and per reference point.

E. None of the above statements are false.

Correct Answer: D

QUESTION 5

Which of the following statements are TRUE regarding the Dynamic PCC rules? (Choose two)
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A. The Dynamic PCC rules are created on the PCRF and pushed (or pulled) down to the PCEF.
B. The Dynamic PCC rules are created on the PCEF and pushed (or pulled) down to the PCRF.

C. When GTP tunnels are used between the SGW and PGW, the Gxc interface is used between the PCRF and the
PCEF to carry the dynamic PCC rules.

D. When GTP tunnels are used between the SGW and PGW, the Rx interface is used between the PCRF and the
PCEF to carry the dynamic PCC rules.

E. When GTP tunnels are used between the SGW and PGW, the Gx interface is used between the PCRF and the
PCEF to carry the dynamic PCC rules.

Correct Answer: AE
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